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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION-A
What is meant by near point of a human eye ?
Draw the electron dot structure of CH,Cl .

Which one of the following belonging to a food chain is likely to have maximum
concentration of harmful non-biodegradable chemicals in its body ?

Phytoplankton, fish, kingfisher.
Name the compounds responsible for depletion of ozone layer.

To get a real and inverted image of same size as that of the object by a thin convex lens
of focal length 29 cm, where should the object be placed ? Draw ray diagram to show
image formation in this case.

While sitting in the last row, a student has difficulty in reading the black board clearly.
State the defect of vision the student is suffering from. Mention two causes of this
defect. Suggest a suitable lens for the correction of this defect.

State the main role of decomposers in the ecosystem. Name any two decomposers.

Name the hormone secreted by testis. The testis are situated out side the abdomen in
human male. Give reason .

State the reason why -
(a) Elements of the same group have similar chemical properties.

(b)  Elements of the same period have different chemical properties.

Two elements ‘X" (atomic number 7) and ‘Y’ (atomic number 15) belong to group 15 of
the periodic table . Write the electronic configuration of these elements. Which of these
will be more electronegative and why ?

Burning of Coal and petroleum pollute the environment . Justify this statement.

State the mode of reproduction in following organisms :

Earthworm, Frog, Rhizopus, Plasmodium
The sky appears reddish during sunrise and bluish in the day time. Why ?

An organic compound X is an essential constituent of wine and bear. X is responsible
for the intoxication caused by these drinks. Oxidation of X yields an organic acid Y
which is present in vinegar. Name the compounds X and Y and write their structural
formulae.
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15.

16.

17.

18.

19.

20.

21.

22,

23.

(a) How and (b) Why do atomic radii of elements change as we move 3
(i)  from left to right in a period ?
(i) down a group in the periodic table ?

An object is kept in front of a concave mirror of focal length 20 cm. The image is three 3
times the size of the object. Calculate two possible distances of the object from the
mirror.

45°
' (1) medium (Air)

<—+(2) medium

(i) A ray of light is incident at an angle of 450 at the interface of medium. (1) and 3
medium (2) as shown in the above diagram. Redraw this diagram in the answer
book and complete it. If the angle of refraction is 30 find the refractive index of
medium (2) with respect to medium (1).

(Given that Sin 45°= /5 and Sin 30°=14)

(ii) If second medium is water in place of medium (2) will the angle of refraction
increase or decrease? Why? (refractive index of water =4/3)

(i)  When white light is incident on a glass prism surface it splits into constituent 3
colours, Why ?

(i)  Write the colours in the order as they appear in the spectrum.

(iii) Draw aray diagram to show dispersion of white light as it passes through a glass
prism.

In a sexually reproducing plant, what happens to zygote formed after fertilisation ? 3
State in brief.

What is the homology between fore limb of frog, fore limb of lizard and wing of a bird? 3
What does it indicate ? State one function each of forelimbs of
(i) human being, (ii) birds.

What are fossils ? How are they formed ? Write their one significance. 3

When a plant with purple flower was crossed with a plant having white flower, in F, 3
generation all flowers appeared were purple. If F; generation plants are self fertilised,
what is expected in F, progeny ? Explain with the help of a flow chart.

State the type of mirror required to get. 5
(i)  virtual and diminished image of an object
(ii) real and diminished image of an object
Show image formation in both the above cases in the form of ray diagrams. Which
of the above mirrors can also form (i) real and magnified (ii) virtual and
magnified image of the object ? Draw ray diagrams to justify your answer.
OR

086/X/SA2/30/ A1 3



24.

25.

State the type of lens used to get

()
(i)

(I1)

)

(I1)

(b)
(©)

virtual and diminished image of an object
real and diminished image of an object

Justify your answers in the above two cases by drawing ray diagrams. Which of
the above lens can also form (i) real and magnified and (ii) virtual and magnified
image of an object ? Draw ray diagram to justify your answer.

Write the name of the following compounds :

HHHHO H H
| | [ | Il | |
(@ H-C-C-C-C-C-H () H-C-C-C=C-H
H HHH H H

Write chemical equations for the following reactions :
(a) Ethene is made to react with hydrogen in the presence of Nickel Catalyst.
(b) Ethanol is heated with alkaline KMnO,
() Sodium carbonate is made to react with ethanoic acid.
OR

Complete the following reactions

(@) C,HsOH + CHyCOOH mfffe H250s +H,0
(b) cH, + CL o, +HC
()  CH; CH, OH mif* o, — —+H0

2504

State two properties of carbon which lead to huge number of carbon compounds
we see around us.

Sketch a neat diagram of female reproductive system in human beings and label
on it.

(i) Fallopian tube

(ii) ovary

(iii) uterus

(iv) cervix

Mention a change seen in a girl at the time of puberty

How do mechanical barrier devices prevent pregnancy ?
OR

Sketch a neat diagram showing longitudinal section of flower and label on it.

(i) Stigma

(i) ovary

(iii) Filament

(iv) Sepal

How is pollination different from fertilisation ?

What does ovary of a plant contain ?
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26.

27.

28.

SECTION - B
Four students measured focal length of a concave mirror while performing an experiment

as shown.
)
i[ F
!I F

The picture which depicts the correct image formation is -
@ A (b) B (© C (d D

(A)

©

(B
>
F
(D)
\

1

Four students reported the following observation tables for the experiment to trace
path of a ray of light passing through a glass slab for different angles of incidence.

Oi | Or | DOe Oi | Or | De
30° | 28° | 30° 30° | 18° | 30°
40° | 35° | 40° 40° | 25° | 40°
50° | 40° | 50° 50° | 30° | 50°
(D (IT)
Oi | Or | De Oi | Or | Oe
30° | 20° | 40° 30° [ 20° | 30°
40° | 30° | 50° 40° | 30° | 40°
50° | 40° | 60° 50° | 40° | 50°
(I10) 1v)
The observations likely to be correct are those of student.
(@ I (by I (c) 1 (dy IV

While tracing the path of a ray of light passing through glass slab as shown in the
diagrams, four students interpreted the results as given below.

(A) Ors0 eB8 i B Or0 ek i(CQ 0Oif0 rk e (D) Oi0 eB
The student who has made the correct interpretation is
@ A (b) B (© ¢C (d D
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29.

30.

31.

32.

In an experiment to determine the focal length of a convex lens, a student obtained
image of a distant window on the screen. To determine the focal length correctly the
student should measure distance between.

(a) lens and the screen only
(b) lens and the window only
<)

(

(d) screen and the lens and also between the screen and the window.

screen and the window only

A student does the experiment on tracing the path of a ray of light passing through a
rectangular glass slab for different angles of incidence.

(A) (B)

~

< .

The diagram which indicates correct measurement of angle of incidence and angle of
emergence is

(@ A (b) B () C (d D
- - - -
A12 (804)3 > FeSO, > FeSO, > CuSO, >
Cu— ogog Zn —@ Al o0 Fe — o%o
<I> (11 (111 (V)

In the above experiment the reaction will take place in the test tubes
(@ LII (by IL I, IV (c) LILII (d) I 1V

In an experiment an iron plate is placed in copper sulphate solution by a student. After
some time the reddish brown coating appears on the iron plate. This coating is

(a) soft and dull (b) hard and flaky
() smooth and shining (d) rough and granular
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33. A student put red litmus in two test tubes A and B as shown. 1

- C S
Na,CO; —
CH, COOH—F Soln =
(A) (B)

He would immediately observe that red litmus :

(@) In’A’ turns blue, while in ‘B it remains red
(b) In’A’ remains red, while in ‘B" it becames blue
(¢) Inboth A and B, it remains red

(d) In both A and B, it changes to blue

34. A student dissolves CuSO,, FeSO,,ZnSO, and Al,(SO,); in water in four different test 1
tubes. He would observe that the solutions obtained appear respectively as

(a) blue, pale green, yellow, colourless
(b)  blue, pale green, colourless, colourless
(c) Dblue, dark green, pinkish, colourless
(d) pale green, blue, green, yellow

35. A student added 5 mL of acetic acid to 5 mL of water and the mixture was shaken well 1
for one minute and allowed to settle.

% '

Water Clear
Turbid | solution

d silution
| Wakee S Acid

NS Ny N N
I I 1 v

The correct representation of the observation made would be
(@ I (by 1I (c) I d 1Iv

36. The diagram which most appropriately illustrates the binary fission in amoeba is 1

"// '} m ‘, /*-’v “ @ [ ‘\‘ - // \'\~
( o~ JC * ) ( = )
b, 0 S -’/h—_ Nz, e \\‘,‘____/ / \ : J (\ o
s a4
I i} 111 v

@ 1 (b) I () I d) IV
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37. Following diagram was drawn by a student on having seen a prepared slide under a
compound microscope.

The slide depicts

(a) Binary fission in yeast
(b)

(c) Binary fission in Amoeba
(d)  Budding in Amoeba

Budding in yeast

38. The diagram which does not illustrate budding in yeast is

@
e G
é)@%

39. 5 grams of raisins were placed in distilled water for 24 hours. The weight of soaked
raisins was found to be 7 grams. The percentage of water absorbed by raisins should be

(7-5)g 1 (7-5) g 1
(a) 5g Xm (b) 7g Xﬁ
(7-5) & (7-5) g
(@) ?Xloo (d) 7 g X 100

40. At the end of the experiment “To determine the percentage of water absorbed by
raisins” the raisins are wiped with filter paper just before weighing. Wiping ensures
that

(a) only water obsorbed by raisins is weighed

(b) hands do not get wet
(©)
(

d) the raisins lose water before weighing

weighing scale does not get wet
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41. In the following diagram binary fission in amoeba is illustrated but the different stages
of the process are not in proper sequence.

@\

1 1I i v

The correct sequence of fission process is
(a) LI 1V, I
(b) IL IV, IIL1
(c) UL I IV,I
(d)y LIV, 1,1

-00o0-
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10.

11.

12.

13.

HAT - A

e W % ke fag 9 o e § 2

CH,Cl i SetagiA-foirg HE= Eif |

frAfafea & st Th SRR STl & g sia & IR § era fe=it 3o gifet WWeE &t
STehad gl B Fehd! § 2

qeY ash, A3al, b R (W)
TSI T & 819 o fou ScRerEt Aifirent 1 7 fafge )

20 cm RIhH I o Tdal 3T il 9 TR forat it forat <t o T@n S for 3Eeht w9 e
1 e Td 3ol Gidforsl U 817 39 TR0l H gfafars o1 <9 o foae feeor s
Hifau |

ey H 3ifq dfes § 93 ferelt o 1 v 12 W for@ 1eii o1 o8 eEn § R Bt ¥ 98
B fha gfy < @ difed ¥2 39 < S & < Rl fafaw) 59 3fE S & g3 & fag #E
STIH T AR |

RS H STIHISIohi i T Rl 1 3ceid hitae | TRl <1 sTaHTSient o W fafaT |

U GRI Tfed BrH T AW fafa | TR AMa % g0 Se0Rl & arel feord 21d § | 3Heht SR
fafew|

fr=fefed s swro fafe :
(a) HHM TUE % qwll & TR e g9 2 ¥ |
(b) HHM 3T & qcl o qEEfTen qoreH fe- i 2§

T T X (T H&AT 7) qY (WRHTY] AT 15) 3T ARV o 9e 15 ° feud 1 59 a
% goree o= foafaw | & ail | wiA atfues sho-faga € i =i 2

HIFA T YITH o e | JATeR YSHd Bl €1 36 %A i ¥ Sifee |

fr=fafea Stal & S ot faftr 1 Seoa sifse -

g3, THgh, YSsIad, TISHITSIH

Tailea & g9 g Wy aen faT o 9w Feny (g He) Ydrd S ® 1 @ 2
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14.

15.

16.

17.

18.

19.

20.

21.

22.

IS hTel[eh AIfTeh X’ IR GAT ST 1 eI 3Tegd & | ‘X 39 941 o Yo B arel 719 &
oI STReErE €1 X’ % SU=EH gRI ATk ‘Y’ oFa1 & 1 forer o Sufterd gt g1 X den Y &
Td GRS g5 faf@u

sTad SO § (i) TR oTed W 9C € ¢ W WA (i) fRd 9 | W ¥ A9 90 W
Tl it Mfvass e H @) A UER SR (b)) i AR e E?

T faedt 20 cm HoRE T & STaaa 40T o 9 e €1 <90 511 39 fora o ARst | o A
Fe] gfdfora a1 8 2 <40 9 fara it &1 Henfor g aResfera sifse |

45°
: (1) A1z (aTY)

| < (2) T

() HIEAY (1) T WG (2) % SFRIYS W HIE R0 45° F w0 W oA H T SHER
39T LA § | 39 ot o1 7ot ISR kRt TR SRt QU ST | IS STeRd il o1
T 30° €, O WA (2) 1 SAUSIHIG HIEAH (1) o ATHET T it |

(fem ¥ sin 45°= V5, Sin 30°=14 )
(i) @ AW (2) % TH R G WG S (SUSAIR = 44 ) €, A AT HI0 H HA
ST ST H ? i ?

(i) 9 Ia YR foRelt wia o fiom W S s § @ 9 fafve &1 % stemEl 6w o2
e ?

(i) & T (aoh) o w9 H Teagn ¥ femr 30 %, 3% 4w § fafau)

(ili) T ¥ TRA W Yo YehTT 1 07 feIfid 21 <9I o o foRo e Eifau )

TR S gRT Sl UiY H e % v g TS B R BT § 2 AT H 3oeid iy |

e & 3T U1, fEushell & TS qe Yall & U o o= o1 THSIAa1 € ? I8 941 SATd shia
F2 (i) AE, (ii) Ut § YAF & SIS H Teh-Teh i eAf@y |

Siemed 1 € ? 3 fHT YR 9d € 2 3799 Tk Heod faf@u |

el ST el o WTE ST WU HOhG el o U19 § I R Al F, Safd | |/t e S e
Y| AfS F, Hafd % 9e @ fem @ F, Hafa o did 68 20 7 e S i weEd 9
Y HIfST
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23, = feu Tu yfafa o 1 & fou ford gehR o Y01 T STawdehdl BT 2

() et formar ot amvTedt o west | Bier gfdafar

(i) foreht forsr <1 amafores qen west | Bt gfdafar
IIH THI TRl § Ffafers ST gehRmeT fortor oTi@ Si=ehd SeMeT | 39 SH1 <Uon | 9
HF A U0 o T (i) ATtk TS STEf, (i) STUE TS SAatyd gfafera off a1
Hehdl T1 3T IW 1 If¥ & fau fmor s wifew)

Jrar

= feu M gfafers 9@ w3 % fou smawaes o " & ywR & 9 fafew -

() et forest <t STrwTedt den et | Bier yfdafers

(i) foreht forar 1 arforeh qen WES | Bl gfafaw |
ST ST TeRToll o o790 ST bt gfE Wehter fohor o wiget HifT | 37 <1 ol |
¥ & W o9 faw 1 (i) arafae Td sTafdd, (i) SR e eTafa gfdafa off o
HHha1 T 7T IR i gf¥ & fore foheor s wifaw

24. (1) TAfafEa difee o 7= fafaw)
H HHH O H H
| I | | Il | |
(@) H-C-C-C-C-C-H (b) H-C-C-C=C-H
HHHH H H

() frefafea sfufrmei & fau vt T fafan
(a) T =t fiohet IR i 3ufeafd # segem § sAfafpan)
(b) TSI I R KMnO, & |1 TR Al
(c) TAIEeh TR i HIfSIH Hra-e o e TAtH |

ateraT
1 Frefaftea sttt w1 qu i
(@) C,HsOH + CH5COOH Mt 1250 , _____ +H,0
(b  CH, + Cl, 0 Hm T +HCI
I
() CH; CH, OH O fff - FH,O

(1) <h1e o 37 < TN 1 e HITIT e HROT AR IR 3R STfes He o Heq
ik e 34 2 |
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25.

26.

27.

(a) HME & AR S T3 1 W5 NG gl 39 |

() hRAIfTEE Zgd (ii) USRI
(iii) TR (iv) Titen
ATqifeRd ShIfSTT |

(b) AS(HAT H AARET % FHY fC@mE <7 a1en HE T Redd fafa |
(c) itk sTadiy gfepai fohe yepr Mefemor &1 et € 2

9T
(a) T F ST FIC P WD NG Wi 34 W
()  afdepnr (i) STUERME
(iii) g (iv) T g

I AHIfRA I |
(b)  TTOT A= § o gehR et B & 2
(c) UIY % USRI § T Bl © 2

T - |
AT S T IR B A T § SRy SIgER Sferdel 90l ot iy gl A |

(A) % %i (B)
«— >
F ’ E Eé
() oL~ F
T

[ /
Ea — .
& fafers =1 <wi aren fo ©
@) A (b) B © C d D

IR i & Toidl 9 fafirt ol 1R smmafad gerret ftor o1 g RfEd o o 990 & fau
TR B A 3 J& B! difetert & &9 H " U T79R g&qd fora |

Oi | Or | De oi | or | De
30° | 28 | 30° 30° | 18 | 30°
40° | 35° | 40° 40° | 250 | 40°
50° | 40° | 50° 50° | 30° | 50°
@ 10)
0i Or Oe i Or Oe
30° | 20° | 40° 30° | 20° | 30°
40° | 30° | 50° 40° | 30° | 40°
50° | 40° | 60° 50° | 40° | 50°
(IT0) (IV)
37T YeTon 1 Wl & A 91el BT ® ¢
() 1 (b) 1I () I d 1V
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28. 3TAMIHR hid & Tid 9 forel gerrer fontor o1 g 2IRfEd id T9F IR o6 3 o799 gfomg st 1
e i fu ST7ER &1 |

(A) Orx1 eB i B Or=0 ek i(C 0Oif&0 r2 e (D) 0Oi=F1 eB r

HEl AT HT el B -
(@ A (b) B (0 C (d D

29. U T 39 o9 i wiekw O F9iRa e & fordt 70 4 w6 39 4 0. W e g fassnt 1
o1 yfafers g foran | wiehd g8 o1 W11 R0 i & foe 39 B 1 fRes o= gl
AT =feT ?

(a) had TH AT IS h S Bl G |

(b) hadl o a1 fagent & o= &t gl

(c) <had 9s e faga®t & o= & gl |

(d) U< q1 T W= H G0 SR IS a1 Fagw & o= w g o

30. I8 B fafds s ol o T forelt SRR i & wid | T oTelt Yo foRon &6 1
Ty ARAET A B |

(A) : (B)

©)

%Wﬂ?m%ﬂw#awddqolUlﬁmﬁTi?ra?rWﬁﬂﬁmWW%l
(@ A (b) B () C (d D
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31.

32.

33.

34.

- - - -
Al2 (804)3 > FeSO, > FeSO, > CuSO,
00 00 74
Cu—- 83 n —w Al o0 Fe — 95

D (I (I1I) (IV)

SHE A § 51 qreHterEt | sifufsean et o qweHtern ©

(@) 11 (b) 1L III, IV (c) L II I (d) LIV

TRt I B IS BT Teh skt § IR Gothe T i ST STRA &l @i gal a8 | o
T I 39 SAPRA i W T T B I TR fGmE Tt §1 Jw WA ¥

(a) IHA TS Hih (b) SR e YIS TR
(c) Taet v =menten (d) & TH IR

1E B fot § <Iiy @R & WEHAfad A td B oel ferend foetmar €1

- -
Na,CO,4 >
CH, COOH— Soln =
(A) (B)
98 I I8 Y&l haT foh o forenw ¢

(a) ‘A’ ¥ A A T E, Sk B H 9% el & @l 2

(b) ‘AT A & @A T, ARk B H I e & S ¥
(c) <l WaEAterEl § 78 et & i ¢ |
(d) < e H I e & S

%1E B =R {93 qEAferl § Sa o 3T CuSO,, FeSO,,ZnSO, d Al(SO,), ! Hieieht
7ok Toreraa o1 €1 39 foreraml <1 B&701 7id TR 98 I 9Tl € T 3 foeraa shaen: ydia 2
2

(a) e, i, &, dier, T (b)  freT, Wik, &1, TTEH, TEH
(c)  iteTl, &N &, e, TTEH (d) hiewt &, e, &4, diel
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35.

36.

37.

fordt B 7 5mL TEifeeh 37T il 5ml 5 H facie fagor =1 wa faqe a6 et vifa feeman
3R v Bie fean |

e TR
A 3T
Nl e \_/ LS
1 Il 111 v
SHh T9ETd ST S Jey foran ST @t fEqr S oen e R
@ I b) 1 (¢ I @ IV

ST H fgEue sl g9 aren 9o 3UgE NG ¥ -

( i '.\ N\ ( @ Ji ( < [ 177} \\; \
o A 7 e o \
s e \ N

I I 111 v

@) 1 (b) I (c) I d) IV

et B 7 Tk TRl Wi 1 HY® YaASIT H YT I ok R hsS i e faan mn
3G i |

TE TAES el & :
(a) e ¥ fgaved (b) = H gped
(c) ofHien § fg@ued (d) oTHieT ¥ gged
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38. it feu wu fersii #, it fort 2t o gepor T2 <uiian 9@ ® -

(A) (B) ©

@ A (b) B (© C d D

39. 5 g foruifietl w1 24 ©¢ Ok THd ST § Fien | o forufien 1 gomM 7g 9 T
feraTfirell ST STerfed STe1 st fereran T =feu-

(7-5)g_ 1 (7-5)g_ 1
(a) 5g Xﬁ (b) 7¢g Xﬁ
© (7;2 8100 @ (7;2 8 %100

40. ' fervrfiell gRI STerife STeT sl Widered S he’’ WanT o o1 | ofiit femwifareti o Sifaw
MM A ¥ g 3 ook 031  dis1 S B 1 9 YRR UisT 9% giafved e ¢ o

(a) ko TRl gRT STarenfod Sict i & H1Y <ff S|
(b) A MATE

(c) e ol Yerel Ten 7 &

(d) forufi del SH 9§ 98 5@ @1 S

41. = fo= o srien & fgmvea o1 guiien T § W 39 fafie =)o 9@ B9 | R )

ODNONCONCS

() I I, 1V, I (b) 1L IV, III, I () LI 1V, I (d) I, 1V, II, I

-00o0-
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